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Reference: 

https://www-
01.ibm.com/support/knowledgecenter/SSPT3X_4.1.0/com.ibm.swg.im.infosphere.biginsight
s.analyze.doc/doc/bigsheets_con_workbooks.html

QUESTION: 50
	
Cloudant is defined by which of the following?
	

A. A JSON document store
B. A key/value store
C. Agraph database
D. A column/family store

Answer: C 

Reference: 

http://www.redbooks.ibm.com/redpapers/pdfs/redp5126.pdf 

QUESTION: 51 
Which of the following big data components makes all decisions regarding the replication of 
blocks? 

A. Job Tracker
B. Edge Node
C. Name Node
D. Data Node

Answer: A 

QUESTION: 52 
Considering a service level requirement (SLR) of less than 3 milliseconds, what task must be 
performed to meet the SLR? 

A. Collect and analyze SNMP MIB data
B. Survey a representative amount of end users
C. Measure switch failure frequency
D. Inquire when prime network hours occur

Answer: C 
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QUESTION: 53
	
Which of the following statements is true about DB2 BLU?
	

A. To move a table from row based into a BLU columnar format you have to take a back 
upand restore it to a BLU table. 
B. To move a table from row based into a BLU columnar format you need to take it offline 
and do a one time convert into a BLU table. 
C. To support mixed workload it is necessary to create a shadow copy of the relevant tables. 
D. To support mixed workload it is necessary to create a shadow copy of the database 
populatedwith relevant BLU tables. 

Answer: B 

Reference: 

https://www.ibm.com/developerworks/library/dm-1406convert-table-db2105/ 

QUESTION: 54 
Data Architects assess data according to several common characteristics. One of these 
characteristics is the type of data. Which of the following are data types that fall into this 
ontology? (Choose two.) 

A. Master data 
B. Meta data 
C. Boolean 
D. Composite 
E. Integer 

Answer: A, D 

QUESTION: 55 
In order to enable connectivity between Netezza and BigInsights, what must be enabled on the 
Netezza Performance Server? 

A. Java-based Netezza user-defined functions 
B. ODBC drivers from Netezza 
C. JDBC drivers from Netezza 
D. JAQL Netezza connectors 

Answer: A 

Reference: 
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https://www-
01.ibm.com/support/knowledgecenter/SSPT3X_4.1.0/com.ibm.swg.im.infosphere.biginsight
s.import.doc/doc/data_warehouse_udf_netezza.html
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